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NAME HP A D SA SD S name hp a d sa sd S

a7 v A 30 56 35 25 35 72 7w 55 81 60 50 70 97
a7y A 30 56 35 25 35 72 7 v A 75 71 70 40 80 7
AZARX) 40 60 30 31 31 T0OA=FYJ 65 90 65 61 61 100
7= 35 60 44 40 54 57— w7 60 95 69 65 79 80
VI 50 75 85 20 30 40 T Fsve 75 100 110 45 55 65
T KA 50 75 90 10 35 40 B KoY 75 100 120 25 65 65
% 38 41 40 50 65 65 F 2773z 73 76 75 81 100 100
Oa:A 38 41 40 50 65 65 ¥ 3 73 67 75 81 100 109
INT A 35 70 55 45 55 25 /8727 60 95 80 60 80 30
o 60 55 50 40 55 45 B|IL 7+ > 70 65 60 90 75 90
TATH 10 55 25 35 45 95 X7 Y= 35 100 50 50 70 120
TA TR 10 55 30 35 45 90 X7 K VY= 35 100 60 50 70 110
—v—A 40 45 35 40 40 90 ML T 65 70 60 65 65 115
v — A 40 35 35 50 40 90 RIS T 65 60 60 75 65 115
Xy Y 50 52 48 65 50 55 JWA w4 80 82 78 95 80 85

¥ EF— 40 80 35 35 45 70 7Y H 65 105 60 60 70 95




V=2 d—F

T —X T AbT—% = T :3

data = pd.read_csv('status.csv', encoding = 'utf-8")

X, y = data[['HP", "A', 'SA', 'sD', 's']], data[['hp', 'a', 'd', 'sa', 'sd', 's']]
X_train, X _test, y_train, y_test = train_test_split(X, y, test_size = ©.3, random_state = 123)
forest = RandomForestClassifier(n_estimators=100, random_state=123)

forest.fit(X_train, y_train)
y_pred = forest.predict(X_test)
score = r2_score(y_test, y pred)
print(X_test)

print(y_pred)




/|

[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[



AL
¢ 1 5FXTCORTEVYOHEADIER Z DTS B,

* 2.ZDFHDEEZAET S,

e 3HLWRTEVICH L THA D,



T RIDEEAREND 5

e R2 (REFH) #HAW3, LIZANIEHRBIZFERL,

score = r2_score(y_test, y pred)

. 82 —-0.038489239036687495
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